FR25%5H1H

NZE RIS R = DRI R R

BIEE (B4 :y Sv/h)

B E 5 AT il = Kix BREX(ZEE (G ES)
100cm 5cm
R — 1A 4B 11H 55 0.06 0.07
FEREE Z /N 48 8H h 0.05 0.05
TR E = INER 4H9H n 0.06 0.06
T e AN 5 4898 h 0.06 0.07
T AN 2 5 4898 h 0.06 0.06
eI E /R 4B 11H 0.07 0.07
[l [5 S INFEAR 4A118 n 0.05 0.05
LN AR 48118 h 0.04 0.04
RIE/NFE 4H9H n 0.05 0.05
EEE/NMNER 4898 h 0.04 0.04
B INFR 48 8H h 0.05 0.06
TR EE — R 4F8H n 0.05 0.06
R e — = #¢ 4F8H n 0.06 0.06
FEI s = =4 48 8H h 0.06 0.06
FEI 5 U th =2 4R 4898 n 0.06 0.05
T F il o 4811H h 0.04 0.05
Rk 55 7 He 4FA8H n 0.07 0.07
miuE—REE 4898 =) 0.06 0.06
miIE=REE 4F8H 51 0.04 0.04
hiIEmRESE 4H9H8 e 0.07 0.07
miIEREER 48 8H g1 0.05 0.06
HiILFEMRE E 4H9RH n 0.08 0.08
U RE 4FA8H n 0.05 0.05
BEREFE 4898 h 0.06 0.06
RGEREE 4811H n 0.06 0.06
HWLEREE 4B 11H =) 0.07 0.06
LA DA FREERIE 4B 8H h 0.06 0.06
EEB/N\ANTREE 4B 8H n 0.06 0.06
LHDRREEEES 4F8H n 0.06 0.06
b EPSLIEREE 4H98 n 0.06 0.06
Jz')—Fz faE&2E 4H9H n 0.07 0.08
T EYHE 4B 11H =) 0.06 0.06
= R:;%ﬂﬁﬁbj(ﬁlm: AB11H =) 0.06 0.06

p) XY % ES)

A AR 4811H n 0.07 0.07
AR L HE AH8H n 0.05 0.05
RO THHEER 48118 n 0.05 0.06
KD A% FEE 4H9H n 0.06 0.06
FIEHE 4H98 n 0.05 0.06
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NZEHE RS R ED R ERR

IE{E (B :u Sv/h)

B E G pil il = Kix BREXIEE(GEES)
100cm 5cm
R 5 — NI 58108 =) 0.05 0.05
R e Z VAR 5878 h 0.05 0.06
FEIRE = /N 588H h 0.06 0.06
FEI 5 U/ N 588H n 0.05 0.06
Fad 5 7~/ N 588H n 0.05 0.06
FEE /N 58108 =) 0.06 0.06
[l f&a /NFR 58108 n 0.05 0.05
TITNE=E A 58108 n 0.04 0.05
RIE/NER 5878 h 0.04 0.04
EEB/NER 5878 n 0.05 0.05
I RINERR 5878 n 0.05 0.06
R EE — PR 588H h 0.05 0.05
FEREE = PR 587H h 0.06 0.05
FEIRE = h = #e 588H n 0.06 0.06
Feidpk 56 P9 =2 4% 588H h 0.05 0.05
TR E AR ER 58108 h 0.05 0.06
R 5 7 P 2 #e 5878 n 0.06 0.06
miIigE—REE 588H h 0.06 0.06
muE=REE 587H g1 0.04 0.04
hilEMEESE 5H8H H1 0.07 0.07
T FEREEE 5878 e 0.05 0.04
HiLENRE B 588H h 0.07 0.06
UobREER 5H7H n 0.05 0.05
BEREE 588H h 0.06 0.06
RIGEREE 58108 h 0.06 0.07
HILEREE 58108 n 0.06 0.06
%&wﬂ%’%lﬁm 5878 h 0.06 0.06
EEB/N\ANTRE 5878 n 0.06 0.06
:E,Jw)zt{%ﬁla%fa 5878 n 0.06 0.06
b EPSLEABEE 5H88H h 0.06 0.06
Jz')—Fx HapREE 588H n 0.07 0.08
T EYHE 58108 =) 0.05 0.06
AV H#E 588H n 0.05 0.05
%'Rfi?%fbj%ﬂ*ﬁ 5810H n 0.07 0.08
(T7ESSHHEE 587H n 0.05 0.05
EEDOLMIESFHE 5878 n 0.05 0.05
KD O % #E 5H8H n 0.06 0.06
RIEHE 588H n 0.06 0.05
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NZE RIS R = DRI R R

FR25%7H18

AEIE (B p Sv/h)

B E G il = Kix BREXIZEE(GEES)
100cm 5cm
R 55 — /RS 6148 =) 0.05 0.04
R — /NI 6 5108 =) 0.05 0.05
Fad 5E = /R 6H11H =) 0.06 0.06
R 2 PR/ A 68118 INFR 0.06 0.06
R 56 7V N ERR 68 11H =) 0.05 0.06
eI £/ FR 6 H14H =) 0.05 0.05
[l [5& INFEAR 68 14H =) 0.05 0.04
LN 6 8 14H =) 0.04 0.04
RIE/NFE 6 5 10H =47) 0.04 0.04
=B /INER 68 10H =) 0.05 0.05
IR INFER 6 5108 =) 0.04 0.04
TR EE — R 68118 ED) 0.05 0.06
R EE = P #e 6 5 10H INFR 0.06 0.06
MR E =R 68 11H =) 0.05 0.05
R 5 U ch =2 4% 68 11H =) 0.06 0.06
T F ey 5 6 8 14H =) 0.05 0.04
R 56 7 P 4R 6 5108 INFR 0.06 0.06
miIE—REE 68118 =) 0.05 0.06
miIE=REE 6 5108 =) 0.04 0.05
hIFEUEEE 68 11H = 0.06 0.08
hiIiERERESE 683 10H =) 0.04 0.05
HIFEMRE E 68 11H =) 0.05 0.05
U B REE 6 5108 =) 0.05 0.04
BEREE 68118 INFR 0.06 0.08
RGEREE 6 8148 INFR 0.06 0.06
HWUEREE 6148 =) 0.05 0.05
1ADKREREERIE 6 5108 =) 0.06 0.06
EESNA/NNORBE 6 5108 =) 0.06 0.06
LHDREBEEES 6 5108 =) 0.06 0.06
b EPSLEEE 68 11H INFR 0.05 0.07
21)—Fx feE&d 68118 =) 0.07 0.08
B EYHE 68178 Fh 0.05 0.05
%‘R:zlt V%ﬂﬂﬁqﬂjqﬁﬁ? 68118 =) 0.05 0.05
A7 2 A 1T 5 =
CEShYHE 6A14H 1) 0.07 0.08
(T7ESSHHEE 65108 =) 0.06 0.06
EEDOLMIESFHE 68108 =) 0.05 0.05
KD O % #E 6H11H =) 0.06 0.06
RIEHE 68 11H = 0.06 0.06
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Erk25F8H1H

NZEHE RS R ED R ERR

A E ISR | . BAIENE (BRI y Sv/h)

A AEE K& 1 J&rﬁmzrﬁu&xa
gk 5 — /DER = Ocm Sorm
G M2 DiZH Eh 0.05 0.05
RIS = N 7HsE =7 0.05 0.05
*I_Eiiﬁjz% INFHR 7H8H =1 0.05 0.05
R 7 /DR 7H8 R =0 0.09 0.05
FEEE £/ DNER 78128 =0 0.06 0.06
[5 e /NFER 7B128 =0 0.05 0.05
YL /N AR 7E128 =5 0.04 0.04
RIE/NFK 7850 T 0.04 0.04
%%Jﬁ\”\ﬁ*ﬁ 7H58 %[’) 0.04 0.04
HEIHE — PR 7HsHE *L 0.04 0.05
HERSE — PR THSH ) 0.06 0.06
R SR = PR 7H8H =5 0.05 0.05
T ETEEE TN z0= = 0.06 0.06
FEIEE B PR 7A128 2 i 0.06 0.06
*Iﬂiﬁﬁ%/_'(':l:'%$x 7858 .EEZ.[,) 0.04 0.04
T‘ﬁ""'".ﬁ':ﬁ. 7H8H v 0.04 0.04
Fﬁ:‘z%’fﬂ%ﬁl 7HsHE fh 0.05 0.04
U‘bj:b1%ﬁ. 7A5H -E%-L) 0.06 0.08
r“JB% 1%’5 7TH12H = 0.06 0.07
wWILRE E 7B128 = 0.05 0.05
:Boyo)jq%ﬁ.ﬁlh 7H5H =1 0.05 0.06
HEBN\FTNTRE 7B508 oy 0.06 0.06
%H@*ﬁﬁ.ﬁ%"ﬁ 7H50 ;%U 0.05 0.06
hEPSLEREBE 7B 8H = 0.06 0.07
7z)—F1 WRRAR 7H8HE i,ﬂ 0.06 0.07
AR YHE 7H8H *L 0.06 0.06
ENRZFREIKRENTE 0.05 0.05
CEE Y HE 7R12H Eh 0.06 007
FEDLNEISHE 7E50 = 0.06 0.05
9;?) I:Iﬁf]*ﬁ 7H8H ?ﬁ’b 882 0.05
TE 4 #E [ : 0.05
e H#E 71H8H L0 0.06 0.06
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TAZRIMEGHREDAIERR

ERk25F9H81H

BIEE (4L :y Sv/h)

B E G AlE R E3 BREXIEE(GEES)
100cm Scm
Fad 5 — /NFEe 8H15H Eh 0.05 0.05
FEREE Z /N 8H12H g 0.05 0.05
TR E = INER 8H13H Th 0.06 0.06
T e AN 5 8H13H Eh 0.05 0.05
R 56 7V NFERR 8B 13H g 0.05 0.06
eI E /R 8H15H Th 0.06 0.06
[l [5 S INFEAR 8HA15H Eh 0.05 0.05
LN AR 88 15H g 0.04 0.04
RIE/NER 8H12H Th 0.04 0.05
EERINER 8H12H .sm 0.04 0.05
B INFER 8H12H g 0.04 0.05
TR EE — R 8H13H Th 0.05 0.05
TR EE = R 8H12H Eh 0.06 0.06
FEI e = = H¢ 8H13H Eh 0.05 0.05
T EICEES S 8H13H Eh 0.04 0.05
T F il o 8H15H Eh 0.04 0.04
Rk 55 7 A 8H12H Eh 0.06 0.06
miuE—REE 8H13H Eh 0.05 0.06
miIE=REE 8H12H .sm 0.04 0.04
hiIEmRESE 8H13H Eh 0.06 0.07
miIEREER 8H12H Eh 0.05 0.04
HILFEMRE E 8H13H Th 0.05 0.05
UobREEHE 8H12H g 0.05 0.05
BEREE 8H13H Eh 0.08 0.08
RlZa X8 E 8H15H Th 0.06 0.06
HWLEREE 8H15H Eh 0.06 0.06
1ADKREREERIE 8H12H Eh 0.06 0.06
EEB/N\ANTREE 8H12H .Em 0.05 0.05
LHDREBEEEES 8H12H e 0.06 0.06
b EPSLIERBE 8H13H g 0.06 0.06
Jz!)—Fz fEE&i 8H13H Th 0.07 0.07
T EYHE 8H19H Eh 0.05 0.05
m Rl 8H13H %m 0.05 0.05
%’Rf;?%f%f.ﬁﬁ 8A19H EN 0.07 0.06
(F7ESSHHEE 8H19H e 0.05 0.05
EREbHhMEAHE 8H15H 51 0.05 0.05
KD O % E 8H13H e 0.05 0.05
FIEHE 8H19H e 0.06 0.06
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ERk25F1081H

AIEE (BAL:y Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
TR EE — INFERR 9812H Th 0.05 0.05
R e Z IV 989H .sm 0.04 0.05
TR E = /R 9810H g 0.05 0.05
FEIm /N 9810H Eh 0.06 0.05
FaI 5 7~/ NFR 9810H Th 0.05 0.05
Fad £ /R 98 12H Eh 0.05 0.05
[l & a /NFE 9812H Eh 0.04 0.05
TIN5 9812H Eh 0.04 0.03
RIE/NF 989H Eh 0.05 0.04
==/ 9H9H n 0.04 0.04
I RINERR 989H n 0.05 0.06
R 5 — P 1 98108 n 0.05 0.05
'#lai):jz;ﬁ. th=ke 989H h 0.05 0.05
TR EE = R 9810H n 0.05 0.05
%Fﬁiﬁﬁ;ﬁl fh =1 98 10H h 0.05 0.06
TR E AP ER 9812H h 0.04 0.04
T E G 5 989H n 0.06 0.06
miIE—REE 98 10H h 0.06 0.06
muE=REE 989H n 0.04 0.04
I FUEREE 9810H 5N 0.06 0.07
HiIERREEE 989H Eh 0.05 0.04
hilENEEE 98 10H e 0.06 0.05
UobRE 9H9H n 0.05 0.05
BEREE 9810H h 0.07 0.08
RlEe X8 E 9812H n 0.05 0.06
HWILERBE 9812H n 0.06 0.06
LA DARREEKIE 989H n 0.06 0.06
EEB/N\ANTRE 989H h 0.06 0.06
LHDARREBEEEES 989H n 0.05 0.06
b EPSLEEE 9810H n 0.05 0.06
Jz')—Fx fegp&ia 98108 =) 0.08 0.07
B EYHE 9812H h 0.05 0.05
- :;utvb%ﬂznjcﬁl 9810H n 0.05 0.05

REZFEHKRENMNE

E XA 9H12H n 0.06 0.07
(TS SHHE 989H n 0.05 0.04
ERHMIESHE 989H n 0.05 0.05
KD A% F#EE 9B 10H Q 0.05 0.05

HIEHHEE

9A10H

0.05

0.05
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NZEHERAH R ED R ERR

~ B IE{E (B :u Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
TR EE — INFERR 105 10H =) 0.05 0.05
R — /NFH 108 7H & 0.05 0.05
TR E = /R 1088H g 0.05 0.05
FEIm /N 1058H Eh 0.05 0.05
L a2 5 108 8H s 0.05 0.05
Fad £ /R 108 10H =) 0.05 0.05
[l & a /NFE 105 10H Eh 0.05 0.04
TIN5 108108 Eh 0.04 0.04
RIE/NF 108 7H =) 0.04 0.04
==/ 10A7H =) 0.04 0.04
B /INFER 108 7H s 0.05 0.06
R 5 — P 1 108 8H Eh 0.05 0.05
%uai)ﬂz;ﬁ. th=ke 1087H =) 0.05 0.05
TR EE = R 1058H 5N 0.05 0.05
e 1088H Eh 0.05 0.04
TR E AP ER 105 10H h 0.04 0.05
T E G 5 1087H n 0.06 0.06
miIE—REE 1088H h 0.06 0.06
muE=REE 108 7H B 0.04 0.04
I FUEREE 1058H 5N 0.07 0.07
HiIERREEE 1087H =) 0.04 0.04
hilENEEE 108 8H E1 0.06 0.05
UobRE 108 7H s 0.05 0.04
BEXREE 10H8H Eh 0.07 0.08
RlEe X8 E 108108 n 0.06 0.06
HILEREE 105 10H =) 0.06 0.06
1AHADKREEERIE 108 7H =) 0.06 0.06
EEZEONANTRS 108 7H =) 0.05 0.06
LHDARREBEEEES 10878 =) 0.06 0.06
b EPSLEEE 1058H Eh 0.06 0.07
Jz!)—Fzx fepRAE 108 8H e 0.07 0.08
B EYHE 105 10H =) 0.05 0.04
AR 1088H 51 0.05 0.05
%'Rf;?%g%ﬁTE 108 10H =1 0.06 0.06
(F7ESSHHEE 108 7H n 0.05 0.05
EEDHOMIESFHE 10A7H 51 0.05 0.05
KD O % #E 108 8H H 0.05 0.05
RIEHE 108 8H 51 0.05 0.05
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AIEE (BAL:y Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
TR EE — INFERR 118218 Th 0.049 0.051
R — /NFH 118 26H ﬁin, 0.043 0.047
TR E = /R 11H21H g 0.053 0.053
FEIm /N 118218 Eh 0.049 0.060
L a2 5 11821H Eh 0.057 0.063
Fad £ /R 11822H Eh 0.050 0.061
[l & a /NFE 11H22H Eh 0.042 0.042
TIN5 118218 Eh 0.037 0.040
RIE/NF 11819H Eh 0.034 0.037
==/ 11H18H Fh 0.031 0.034
B /INFER 11818H .sm 0.031 0.033
R 5 — P 1 11 827H e 0.041 0.048
%uai)ﬂz;ﬁ. th=ke 11H19H Eh 0.049 0.061
TR EE = R 118228 Th 0.050 0.056
$i‘ﬁiﬁJza% PO =24 118198 Eh 0.040 0.042
TR E AP ER 11H19H %m 0.034 0.035
T E G 5 11H19H 5N 0.051 0.054
miIE—REE 1185268 H 0.06 0.06
muE=REE 11 825H =) 0.04 0.04
HiLEMEEE 118268 Eh 0.07 0.07
HiIERREEE 118258 £ 0.05 0.04
hilENEEE 11 826H e 0.06 0.05
UobRE 118258 =) 0.05 0.05
BEREE 11H25H =) 0.04 0.04
RlEe X8 E 118 25H =) 0.06 0.06
HILEREE 11H25H =) 0.06 0.05
1AHADKREEERIE 11H25H =) 0.06 0.06
EESNA/NTBRE 1183258 =) 0.06 0.06
LHDARREBEEEES 11H25H =) 0.06 0.06
b EPSLEEE 11H26H Th 0.06 0.06
Jz!)—Fzx fepRAE 11 826H Eh 0.07 0.08
B EYHE 118258 =) 0.05 0.05
- :7’7;&%&! 11 826H 51 0.06 0.05

/Rﬁ% xvi ﬂj(%ﬁﬁ =

e 11H25H £ 0.06 0.07
(F7ESSHHEE 1183258 =) 0.05 0.05
EEDHOMIESFHE 118258 =) 0.05 0.05
KD O % #E 118 25H =) 0.05 0.05
RIEHE 11 826H e 0.05 0.05
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Fr26FE1H18

AIEE (BAL:y Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
TR EE — INFERR 1283H Th 0.047 0.051
R — /NFH 128 12H .sm 0.040 0.042
TR E = /R 1285H g 0.058 0.067
FEIm /N 1283H Eh 0.047 0.047
L a2 5 12H6H Eh 0.060 0.061
Fad £ /R 12H6H Eh 0.047 0.048
[l & a /NFE 1285H Eh 0.052 0.052
TIN5 1285H Eh 0.034 0.038
RIE/NF 128 2H Eh 0.044 0.043
==/ 12812H n 0.029 0.029
B /INFER 1285H n 0.037 0.035
R 5 — P 1 128 3H n 0.046 0.050
'#lai):jz;ﬁ. th=ke 1282H h 0.048 0.052
TR EE = R 128128 n 0.046 0.052
$i‘ﬁiﬁJzaﬁ PO =24 1282H h 0.045 0.041
TR E AP ER 12859H h 0.036 0.040
T E G 5 1282H h 0.052 0.053
miIE—REE 128128 h 0.06 0.06
muE=REE 128118 n 0.05 0.04
HiLEMEEE 128128 Eh 0.07 0.08
HiIERREEE 128118 H1 0.04 0.05
hilENEEE 128128 e 0.06 0.06
UobRE 128118 =) 0.05 0.05
BEXREE 128118 n 0.05 0.04
RlEe X8 E 128128 n 0.06 0.06
HILEREE 128118 n 0.06 0.05
1AHADKREEERIE 128118 n 0.06 0.06
EEaN\ATNTREE 12H11H h 0.06 0.06
LHDARREBEEEES 12H11H h 0.06 0.05
b EPSLEEE 12H12H h 0.07 0.07
Jz')—Fx fegp&ia 128 12H n 0.07 0.08
B EYHE 12811H n 0.06 0.06
AR 128 12H n 0.06 0.06

EUREZFEIAKRF R

S X o 12811 H n 0.06 0.07
AL HE 12811H n 0.05 0.06
EREHh LS HE 128118 n 0.05 0.05
KD A% FEE 128118 51 0.05 0.06
RIELHE 128 12H H 0.06 0.06
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Frk26F2H1H

AIEE (BAL:y Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
R 5 — N 1H7H T 0.046 0.050
Fad 55 — /R 1H8H =) 0.043 0.054
TR E = /R 1H78 G 0.059 0.055
FEIm /N 1H8H =) 0.049 0.050
L a2 5 1H8H =) 0.060 0.061
Fad £ /R 1H7H & 0.047 0.049
[l & a /NFE 1H8H Eh 0.043 0.043
TIN5 1878 Eh 0.032 0.032
RIE/NF 1H7H Eh 0.040 0.040
==/ 1H8H ;%U 0.029 0.027
B /INFER 1H8H 51 0.033 0.039
R 5 — P 1 1H7H e 0.045 0.049
'#lai):jz;ﬁ. th=ke 1H78 e 0.052 0.065
TR EE = R 1H10H 5N 0.052 0.052
%Fﬁiﬁﬁ;ﬁ et 1H8H =) 0.045 0.040
TR E AP ER 1H8H =) 0.033 0.036
T E G 5 1H7H 5N 0.057 0.058
miIE—REE 1H108 H 0.06 0.06
muE=REE 1H9H =) 0.05 0.04
I FUEREE 1H10H 5N 0.07 0.07
HiIERREEE 1H10H Eh 0.05 0.05
hilENEEE 1810H e 0.06 0.06
UobRE 1H108 s 0.04 0.05
BEREE 1H10H n 0.06 0.06
RlEe X8 E 1H9H =) 0.05 0.06
HILEREE 1H9H =) 0.06 0.06
1AHADKREEERIE 1H9H =) 0.06 0.06
EELSINANTRE 1H9H =) 0.06 0.06
LHDARREBEEEES 1H9H =) 0.06 0.06
b EPSLEEE 1H10H HA 0.07 0.08
Jz')—Fx fegp&ia 1810H e 0.07 0.07
B EYHE 1H10H g 0.05 0.05
’ :vbﬂfﬁﬁ 1510H 51 0.06 0.06
290 7. TR D =
Z R:t;é?b %?ETE 1A98 £ 0.06 0.06
AL HE 1810H B 0.06 0.05
EREHh LS HE 1810H e 0.05 0.05
KD A% FEE 1H108 51 0.05 0.05
RIELHE 1810H H 0.06 0.06
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Fr26E3A1H

AIEE (BAL:y Sv/h)

B E G gl = Kix BREXZEE(GEES)
100cm 5cm
TR EE — INFERR 28108 EN 0.047 0.049
R — /NFH 2F6H =) 0.038 0.035
TR E = /R 2868 %iru 0.054 0.051
FEIm /N 2868 =) 0.050 0.051
L a2 5 28 13H ;E"*U 0.056 0.060
Fad £ /R 2A3H Eh 0.045 0.049
[l & a /NFE 2868 =) 0.042 0.045
TIN5 28 12H ;%U 0.030 0.028
RIE/NFE 2838 =) 0.038 0.041
==/ 2813H =) 0.031 0.030
B /INFER 2FA3H =) 0.038 0.038
R 5 — P 1 2878 & 0.042 0.056
'#lai)ﬁ;ﬁ. th=ke 2868 g 0.054 0.059
TR EE = R 2878 Th 0.044 0.047
%Fﬁiﬁﬁ;ﬁ et 28 3H Eh 0.044 0.040
TR E AP ER 28 13H =) 0.038 0.034
T E G 5 2H3H Th 0.054 0.060
miIE—REE 2838 Eh 0.06 0.06
muE=REE 2848 R’ 0.05 0.06
I FUEREE 2A3H Th 0.07 0.06
HiIERREEE 2A3H ﬁin, 0.05 0.04
hilENEEE 2A3H E1 0.06 0.06
UobRE 2FA3H s 0.05 0.05
BEXREE 2A3H T 0.06 0.06
RlEe X8 E 2848 55 0.07 0.06
HILEREE 28 4H INFR 0.06 0.05
1AHADKREEERIE 2848 55 0.07 0.07
EELSN\ANTRE 2848 R 0.06 0.07
LHDARREBEEEES 2848 0.06 0.07
b EPSLEEE 2A3H Eh 0.06 0.05
Jz!)—Fzx fepRAE 2A3H e 0.07 0.08
B EYHE 28 3H Fh 0.05 0.05
AR 2FA3H 51 0.06 0.06
B RLZFEHRF R 2848 NS 0.07 0.06
EAR AL HE 2FA3H =) 0.05 0.04
ERbhESHE 2FA3H =) 0.05 0.06
KD O % #E 2A3H H 0.06 0.05
RIEMHE 2A3H e 0.06 0.06
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BIEE (BB{ir:y Sv/h)

B E G AlE R Kiix BREXIEE(GEES)
100cm Hcm
R — 1A 3A6H H 0.057 0.058
FEREE Z /N 3B 3H =) 0.042 0.045
TR E = INER 3A3H 5N 0.050 0.063
R 6 P9 /N A 3B4H Eh 0.056 0.060
R 56 7V NFERR 3B 7H g 0.057 0.055
eI E /R 3A6H Th 0.045 0.046
[l [5S INFEAR 3A6H Eh 0.042 0.047
LN AR 38108 g 0.031 0.031
RIE/NFE 3A6H n 0.039 0.043
EEE/NMNER 3A7H h 0.035 0.033
B INFR 38 3H =) 0.040 0.039
TR — R 3A7H n 0.048 0.052
R — = #¢ 3A6H n 0.052 0.063
FEI s = =42 3878 h 0.050 0.051
FEIm 5 U h 2R 3H4H n 0.046 0.038
T F il 5 3A7H =) 0.036 0.041
Rk 55 7 He 3848 Eh 0.054 0.056
muE—REE 38108 Th 0.06 0.06
miIE=REE 38118 Eh 0.05 0.05
hiIEmRESE 3H10H Eh 0.07 0.07
miIEREER 38108 =) 0.04 0.04
HILFEMRE E 38108 n 0.05 0.05
UobRE 3H 108 =47) 0.05 0.05
BEREFE 38108 Eh 0.05 0.05
RGEREE 38118 Th 0.06 0.05
HWILEREE 3B11H Eh 0.06 0.06
LA DA REERIE 38118 h 0.06 0.06
EEB/N\ANTREE 38118 n 0.06 0.07
LHDRREEEES 3118 n 0.06 0.06
b EPSLIEREE 3B 10H n 0.06 0.06
Jz!)—Fz fEE&i 38108 n 0.07 0.08
T EYNHE 3B 10H =) 0.05 0.05
iRt 15 3H10H n 0.05 0.06
ELUREZFEIIARFNE 38118 n 0.07 0.07
(TS SHHE 3H 108 n 0.06 0.04
EREHh LS HE 3B 10H =) 0.05 0.05
KD A% F#EE 3H 108 =) 0.06 0.06
IEMHEE 38 10H 51 0.06 0.06
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i = 7 { =
m N ZEE TR =D A F5 R
BIEE (B4 :y Sv/h)
B E 5 AT il = Kix BREX(ZEE (G ES)
100cm 5cm
R — 1A 4898 h 0.046 0.048
FaI EE — NI 48 8H h 0.038 0.033
TR E = INER 4838 55 0.056 0.056
T e AN 5 4898 h 0.052 0.051
T AN 2 5 4810H h 0.059 0.056
eI E /R 48 8H h 0.040 0.043
[l [5 S INFEAR 4848 n 0.043 0.045
LN AR 4898 h 0.037 0.039
RIE/NER 4848 h 0.042 0.047
EEE/NMNER 4898 h 0.031 0.036
IR INERR 4828 h 0.040 0.042
TR EE — R 4H10H h 0.046 0.048
TR EE = R 48 8H h 0.050 0.062
FEI s = =4 4878 n 0.046 0.047
T EICEES S 4828 h 0.043 0.039
T F il o 4810H h 0.040 0.040
FEI 56 75 4 48 10H =) 0.079 0.088
miuE—REE 4878 h 0.06 0.06
miIE=REE 48 8H N 0.04 0.04
hiIEmRESE 4878 2t 0.07 0.07
miIEREER 4878 EN 0.05 0.04
HiILFEMRE E 4878 h 0.06 0.05
U RE 4878 n 0.04 0.04
BEREFE 4878 h 0.06 0.06
RGEREE 48 8H h 0.06 0.06
HWLEREE 48 8H h 0.05 0.05
LA DA FREERIE 48 8H h 0.07 0.07
EEB/N\ANTREE 488H h 0.06 0.07
LHDRREEEES 48 8H n 0.06 0.06
b EPSLIEREE 4878 h 0.06 0.06
Jz')—Fz faE&2E 4878 h 0.07 0.08
T EYHE 48 8H h 0.05 0.05
= R:tc 7$§ﬂ?j(ﬁ.ﬁj= 4878 n 0.05 0.05
p) XY % ES)
S R 488H n 0.07 0.06
AR L HE 4B 7H n 0.05 0.06
LR ESFHE 4B 7H n 0.05 0.05
KD A% FEE 4878 h 0.05 0.05
FIEHE 4878 h 0.07 0.07
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TAZER S BREDRIERFR

Erk265E6 H1H

s o AlEIB (Efs:p Sv/h)
B E G pil il = Kix BREXIEE(GEES)
100cm m
iifai}ajz;ﬁ—ll\ff—ﬂs*a 588H ENn 0.061 0§865
Fad /N 589H =) 0.038 0.036
i iﬁJz"" = INFERR 5H8H Th 0.055 0.059
FEIm 0/ N2 588H BEh 0.052 0.053
Fi iﬁﬁ%x"(/]\%’& 5H2H i 0.053 0.054
Fi ﬁJZ -I:/J\—T—ﬂs*c 587H BEh 0.048 0.051
IR 5H8H Th 0.043 0.046
3 IJJ/J\-JLﬁsc 51H =) 0.043 0.051
Em"ll\%ﬁs‘c 582H BEh 0.041 0.039
zsﬁ: ]/J;j-is*e 5H8H HE;'L 0.033 0.035
LRIV 581 ;
EBE— PR SE 8 E %j(, 8'823 883:7;
T T 5H9H = 0.049 0.057
RN R = P 1% 5H8H =) 0.040 0.038
R EICEEZ N 582H BEh 0.043 0.036
FEIRE B P 589H =h 0.030 0.037
T AN = 5 581H Eh 0.053 0.054
miIE—_REE 5812H BEh 0.06 0.06
hiisE=1RE5E 58148 BEh 0.04 0.04
MUFNEREE 58128 i 0.06 0.06
MU EREBE 58128 Th 0.04 0.04
miLFENERBE 5812H =h 0.06 0.06
UobREE 5812H BEh 0.04 0.04
BERETE 5812H =) 0.06 0.05
ARG REE 58138 55 0.05 0.06
WILERS 58138 INFR 0.05 0.06
FAHANDAEEREIE 58148 Eh 0.06 0.06
EEBNANTREE 58148 BEh 0.05 0.06
LHDARREEEES 5814H =h 0.05 0.05
b ERPSLEEE 5812H =h 0.06 0.07
Jzx!)—Fx feE&a 5812H Eh 0.07 0.07
BEVHE 58128 =) 0.05 0.05
= :;/Jﬂmﬁ =| 5812H & 0.05 0.05
'R_i?;r‘)fhﬁ*.ﬁﬁ 58138 INFR 0.06 0.06
(TS S HEE 58128 Eh 0.04 0.04
EREHH I FHEE 58128 i 0.05 0.05
K0 O # E 5812H =1 0.05 0.05
IELHE 58128 24 0.06 0.06
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TAZRIMEGHREDAIERR
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s o AIENE (BB y Sv/h)
B E ST AlIE 3 Kz REXZEEGEES)

100cm m
FEREE — 1N 6 H4H BEih 0.044 o§847
TR E — INERR 6H2H =h 0.048 0.053
TR E = /R 6548 =h 0.053 0.057
R EICINEZ R 6 8108 =) 0.058 0.076
TR AN 2 5 6 548 A 0.054 0.057
FEE £ /INER 68128 =1 0.041 0.044
IR 6838 ENn 0.043 0.043
I 6128 =) 0.041 0.042
RIE/NFR 6 82H BEh 0.040 0.041
%:F%F—é]lj-’\"?ﬂﬁ 6 E 9H =D 0.031 0.028

LRIV 6 59H =1 0.039 .
FEIREE — R 6 3108 :T;d 0.039 8.833
FEEE = PR 68128 ENn 0.053 0.054
R E = P 6 858 =) 0.049 0.050
R EICEEZ N 6 F2H Eh 0.042 0.042
FEIRE B P 65 9H =) 0.035 0.033
L a2t 5 6848 =) 0.054 0.048
miIE—_REE 6 59H ENn 0.06 0.05
hiisE=1RE5E 6H10H =l 0.05 0.04
MY FOESE 6 598 =) 0.07 0.08
MU EREBE 65 9H =) 0.04 0.04
miLFENERBE 6 5 9H =) 0.05 0.05
UobREE 6 89H =1 0.04 0.05
BERE 6 59H =) 0.05 0.06
ARG REE 6 5108 A 0.06 0.04
WILERS 65 10H =) 0.05 0.05
LADAREREERIE 6 8108 ENn 0.05 0.06
EEBNANTREE 6 5108 =) 0.05 0.05
LHDARREEEES 65 10H =) 0.05 0.06
b ERPSLEEE 6 59H ENn 0.06 0.06
Jz)—Fz famKAE 6 89H =1 0.07 0.07
B EYHE 6 59H =) 0.05 0.04
- :;t 7’7;_:“3%#&5 6H9H BN 0.05 0.05

A 7 TR . =

'R:;-gbfnjaf(ﬁjﬁ 6 10H =) 0.06 0.05
[$75 S =4 [ 6H10H =D 0.04 0.05
EREHH I FHEE 6 598 =) 0.05 0.05
9&0)*I:I I E 65 9H =) 0.04 0.05
IELHE 6 5 9H A 0.05 0.06
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Erk265E8H1H

~ AIEIE (B y Sv/h)
B E G pil il = Kix BREXIEE(GEES)
100cm HScm
FEREE — 1N 788H ENn 0.050 0.051
FEIR R = /NFA 781H =l 0.034 0.040
TR E = /R 7818 =h 0.049 0.052
R EICINEZ R 7E8H BEh 0.060 0.070
TR AN 2 5 7H3H i 0.055 0.055
FEE £ /INER 7878 55 0.042 0.044
IR 7B 8H =h 0.047 0.053
I 7828 =h 0.039 0.046
RIE/NFR 7818 BEh 0.039 0.035
EEH/IDNFER 7H10H =) 0.034 0.039
EREIINFER 7H2H Eh 0.042 0.043
FEIREE — R 788H =h 0.045 0.046
FEEE = PR 7818 Eh 0.045 0.049
R E = P 7H2H i 0.047 0.047
R EICEEZ N 7B1H BEh 0.042 0.038
FEIRE B P 7858H =h 0.033 0.034
L a2t 5 7828 =h 0.054 0.052
miIE—_REE 7878 INFR 0.06 0.06
hiisE=1RE5E 7H8H =l 0.05 0.03
miEMEETE 7H7H INFE 0.07 0.07
MU EREBE 787H =) 0.04 0.04
miLFENERBE 7878 =UNDHRM 0.06 0.06
UobREE 787H INFR 0.04 0.05
BERE 7878 =) 0.06 0.04
ARG REE 788H =h 0.05 0.05
WILERS 7858H =h 0.06 0.05
LADAREREERIE 7858H Bh 0.05 0.05
EEBNANTREE 7B 8H BEh 0.05 0.05
LHDARREEEES 788H BEh 0.04 0.06
b ERPSLEEE 7878 INFR 0.05 0.07
Jz)—Fz famKAE 787H /N 0.07 0.07
T EMHE 787H INFE 0.05 0.05
. R:;t 7$§ﬂﬁﬁj?jt¢§ﬁj= 1878 =Y 0.05 0.05
5h); g A 1 TIE +
CE X 7H8H =g 0.06 0.07
(TS S HEE 787H =) 0.05 0.04
EREHH I FHEE 7878 =) 0.04 0.04
K0 O # E 787H =) 0.05 0.05
MIEHE 7878 5] 0.05 0.05
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s o AlEIB (Efs:p Sv/h)
B E G pil il = Kix BREXIEE(GEES)
100cm

iifai}ajz;ﬁ—ll\ff—ﬂs*a 8H6H BEih 0.047 0§82n9
Fad /N 8H6H =h 0.035 0.035
i iﬁJz"" =INFER 8H1H =h 0.044 0.042
FEIm 0/ N2 8B 7H BEh 0.051 0.053
Fi iﬁﬁ%x"(/]\%’& 8H7H i 0.057 0.056
Fi ﬁJZ -I:/J\—T—ﬂs*c 8H4H BEh 0.045 0.045
ABS /N sH4H =N 0.047 0.053
3 IJJ/J\-JLﬁsc 8H4H =h 0.078 0.081
RBIER 8B40 = 0.036 0.037
a—ﬁ: ]/J;:T-Js*c 8 E AH i 0.029 0.026

LRIV 8H8H =1 0.037 .
FEIREE — R 8H8H = d 0.046 8 822
T T 8E5H =1 0.078 0.083
RN R = P 1% 8A1H BEh 0.044 0.048
R EICEEZ N 8H4H BEh 0.038 0.039
FEIRE B P 8H7H =h 0.031 0.030
T AN = 5 8A6H Eh 0.052 0.058
miIE—_REE sE11H BEh 0.06 0.06
hiisE=1RE5E 8H12H =) 0.04 0.04
MUFNEREE 8A11H =h 0.06 0.07
MU EREBE 8H11H Th 0.05 0.04
miLFENERBE 8H11H =h 0.05 0.05
UobREE 8H11H BEh 0.04 0.04
BERETE 8sH11H BEh 0.05 0.05
ARG REE 8H12H =10 0.05 0.05
WILERS 8H12H =) 0.05 0.05
LAHDAREEREIE 8H12H =) 0.06 0.06
EEBN\ANTREE 8H12H =10 0.05 0.05
LHDARREEEES 8H12H =) 0.06 0.05
b ERPSLEEE sH11H =h 0.05 0.05
Jzx!)—Fx feE&a 8A11H BEih 0.07 0.07
BEYHE 8E11H e 0.04 0.04
- R:;’J%ﬂzbj#(’é =| 8H11H Th 0.05 0.05
) _;é ;r‘)fb*f.ﬁﬁ 8A12H =) 0.06 0.06
(TS E 8HA5H Eh 0.04 0.05
EREHH I FHEE 8A11H i 0.04 0.05
K0 O # E 8H11H i 0.04 0.05
IELHE 8H13H Eh 0.05 0.05
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B E G pil il = Kix BREXIEE(GEES)
100cm m
FEREE — 1N 985H ENn 0.086 0§895
FEIR R = /NFA 98 3H =l 0.036 0.036
FEE = INVER 98 2H =h 0.045 0.045
R EICINEZ R 989H =h 0.055 0.074
TR AN 2 5 984H =) 0.052 0.057
FEE £ /INER 989H i 0.041 0.037
IR 9H2H Th 0.050 0.053
ié lthi ’}‘f’*ﬁ 9H82H 5 0.038 0.041
FINFERR 9H4H =1 0.038 0.037
EEH/IDNFER 984H =) 0.034 0.022
EREINER 98 2H A 0.038 0.035
FEIREE — R 98108 =1 0.040 0.048
FEEE = PR 989H Eh 0.049 0.053
R E = P 98 2H =h 0.039 0.038
R EICEEZ N 982H =h 0.039 0.038
FEIRE B P 98108 =) 0.033 0.039
L a2t 5 981H =) 0.053 0.055
MY E _FREE 9B88H =) 0.07 0.06
hiisE=1RE5E 9H9H fE 0.05 0.05
MY FOESE 9A8H =) 0.06 0.06
MU EREBE 989H N 0.04 0.04
miLFENERBE 9A8H =) 0.05 0.05
UobREE 988H =1 0.04 0.04
BERE 988H =) 0.05 0.05
ARG REE 989H =h 0.04 0.05
WILERS 9A9H Eh 0.04 0.05
LADAREREERIE 989H Bh 0.06 0.06
EEBNANTREE 989H BEh 0.05 0.05
LHDARREEEES 989H BEh 0.06 0.06
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